INSTALLATION GUIDE FOR RECOM GROW LIGHT

ACCESSORIES

1.Recom mounting handle 315/400/600/630
2.Recom mounting handle 800/1000

A Eye Bolt

B U-Bolt

3.Vee Hanger

VERTICAL INSTALLATION

—> Hanging 315, 400, 600 and 630W Grow Lights

VEE HANGER

HORIZONTAL INSTALLATION

—> Hanging DUAL CMH 315W Grow Light

VEE HANGER VEE HANGER

For more information, visit www.luicus.com.au



INSTALLING 315, 400, 600, 630, 800 AND 1000W USING RECOM MOUNTING HANDLE
RECOM MOUNTING HANDLE ASSEMBLY

—> To secure Grow Light to Recom Mounting Handle

1 In order to secure the Grow Light to the Recom Mounting Handle, position the rear of the handle into the T-slot of the ballast.
2 Bring the Grow Light towards the other end of the handle until the handle hooks are safety secured in the Recom box slots.
Note: Make sure the locking hooks of the Recom handle are secured into the siots on the top of Recom bracket to avoid accidents or

failure.

—> To remove the Recom Mounting Handle

1 Lift the unlocking latch inside the bracket box.
2 Hold the unlocking latch open while sliding both the reflector bracket and the Recom handle out of the ballast.

UNLOCKING
LATCH

HANGING RECOM GROW LIGHTS

Lucius Recom Mounting Handle allows Grow Lights to be installed in 6 different positions

—> 1. Using eye bolt

1 Screw eye bolt to Recom handle and fasten using M6 nut.
2 Secure Grow Light to the Recom Mounting Handle. Follow “Recom Mounting Handle Assambly”
3 Secure the rope ratchet clip to the eye bolt of the Recom hanger and the front hanger of the fixture bracket.

For more information, visit www.luicus.com.au




— 2. Ceiling Mount

1 Screw Recom Mounting Handle to ceiling.

2 Secure Grow Light to the Recom Mounting Handle. Fo/low “Recom Mounting Hand/e Assambly”

—> 3.Wall Mount at 45° Angle

1 Screw Recom Mounting Handle to wall using the specified rear key hole.

2 Secure Grow Light to the Recom Mounting Handle. Fol/low “Recom Mounting Hand/e Assambly”

Note: The wall mounting is recomended for complementary side lighting.

—  4.Uni-Strut Mount

1 Insert the spring M10 - 3/8” nuts (not included) into the uni-strut and line them up to match the holes of the Recom Mounting
Handle.

2 Use M10 - 3/8” bolts to secure the Recom Mounting Handle to the uni-strut by screwing into the spring nuts.

3 Secure Grow Light to the Recom Mounting Handle. Follow “Recom Mounting Handle Assambly”

For more information, visit www.luicus.com.au



—> 5.Tent Mount

1 Secure Recom handle to a pole using the Lucius U-bolts.

2 Secure Grow Light to the Recom Mounting Handle. Fol/low “Recom Mounting Handle Assambly”

—> 6. All Thread Mount

1 Secure Recom handle to all thread using an M10-3/8"nut and washer on the top side and underside.
-If using a 315, 400, 600 or 630W grow fight the all thread must go through the front key hole of the Recom handlle (Refere to image A).
- If using a 800W or 1000W grow light the ail thread must go through the middle key hole of the Recom handle (Refere to image B).

2 Secure Grow Light to the Recom Mounting Handle. Foflow “Recom Mounting Handle Assambly”

For more information, visit www.luicus.com.au



	1
	2
	3
	4

